: 7 6 I S * 4 3 ™ raz578-02 |SH1 l | 1
THIS DOCUMENT AND THE INFORMATION CONTAINED IN IT ARE PROPRIETARY AND SHEET REV STATUS REV|SION RECOED
REPAOUCE TP A PR O TS DOUMENT, NOR BISCUCSE 15 EaWeHTs AL% gm%%g \ﬁgg 1EHE Rev | Eco DESCRIPTION DATE APVD
e Ll e s L = fmomace Bupes Zarts 2 Roaves
4 X MBX1.0
D HELICAL COIL INSERT
THD PER MA1567 X 1.5D
OTES: REMOVE TANG @ A 4% MBX1.0
1. INTERPRET THIS DRAWING IAW ASME Y14.100M. [@le 03[e[B][c] D HELICAL COIL INSERT
UNLESS OTHERWISE SPECIFIED DIMENSIONS I THD PER MA1557 X 1.50
ARE IN MM PER ASME Y14.5. / REMOVE TANG
2. MATERIAL: SEE F/N 1 (ALLUMINUM BAR - FOR S —» A / #e 03[p[A[C]
REFERENCE ONLY). PROVIDE USF . : i = = i} @
ALUMlNléJr\cg ALLg;( FBAR 6061-T651 & — | N\ s ey s 5 5 o
PER AMS-QQ-A-225/8 TITEIE TIIIEF _L_/rﬁ]_ j _ R
3. UNLESS OTHERWISE SPECIFIED, UNDEFINED ! s e
MACHINED FILLET MAX RADII SHALL BE 0.2..0.3. | |
4. DEBURR AND REMOVE SHARP EDGES, APPROX. 23 553700 B3®5 | L garp® o
T 5 ALLDIMENSIONS ARE BEFORE COATING () T onsf™ ) " g™ | T | el o] H
- . 66.65 _ 0,25 ©Jo.02
6. PARENTHETICAL FIGURES ARE FOR REFERENCE Sk & / 5 ©low]4] O] | | | » ousy ©] "
. 08 16 1 s g | | IR R 1) :
7. FINISH: 4] 3 v/ v/ e O O — = ¥ Z . © @*
7.1. CHEMICAL CONVERSION COATING PER , [ “i
MIL-DTL-5541F TYPE | CLASS 3. \ o : a L/ 1g AN LN
7.2. ANODIC COATING PER MIL-A-8625 TYPE Il - L A (o “_B -
20+5 MICRON THICK CLASS 2, COLOR \_Q/ . . e 195> e 18570
- 0
C BLACK # 37038 PER FED-STD-595. .
+0.1 >—! :
/1, PROTECT SPECIFIED THREADS AND X} Dl & ,
MARKED AREA (—-, ) AGAINST - \_1?5
ANODIC COATING. — (&) & 725 2501 [+ 275w
: 1 1
INSTALL INSERTS AFTER FINISH PER MS33637 A o]e] =T I
USING PRIMER EPOXY PER MIL-P-53022. (18] e v0s 8] 08
9. QUALITY ASSURANCE PROVISIONS ANSI/ASQG Z1.4 -\ : 08 1—% a0
ALL DIMENSIONS AND FINISH PER SQUEGLIA C=0 AQL 2.5% 142005 ik 3
KEY DIMENSIONS 100% INSPECTION (MARKED BY FLAG KEY) BEFORE DEBURING RO.4005 :
VISUAL INSPECTION 100%. THEEDRES /
SECTION A-A
» IDENTIFY PART PER MIL-STD-130 RUBBER STAMP ! ] o @&A DETALC  DETAILB
‘éV(BWTEPgXY ICIS\l éOPEg A-CA-SP?OSZCTYPE lr\lfm MUM 125730 %/ %/ : — HELICAL COL INSERT SORLEEn SR o
RASTING COLOR. CHARACTERS MINI 275" & /N ; |
TEXT HEIGHT 1.25 MM. MEETING REQUIREMENTS I 5K XA — [+ L P
OF MIL-STD-202F METHOD 215J. LOCATION W 02005
1. PACKAGING AND PACKING 32 \‘A &\ P | /
THE FINISHED PART SHALL BE PRESERVED AND ,
PACKAGED IN ACCORDANCE WITH 5 o
g@gﬁé%mRER*s BEST COMMERCIAL J g/ S 1 é}é @
\ . a8 1]
—
I a |
DETAIL D sp™ \ WS'DS Tl 3 (=3 G312 2027
SCALE 10: 1 4 I - ) o
12002 | @\
w £ AP S/ —
- AW - BA A
\&ﬁ/ %’ @A HELIGAL COILINSERT
_ | 2X M5X0.8 THD PER MA1567 X 1.5D
HELICAL COIL INSERT REMOVE TANG
st — A
ks [$le03[c[Fla].
SEE ATTACHED MEDIA
3.2 16/ 08
SACRAS SEE SEPARATE PARTS LIST
A [ UNLESS OTHERWISE SPEC\FIEE;\ sicnaTuRe] DATE : ORDNANCE FACTORY
(& _ oraun |G |ABH @ TIRUCHIRAPPALLI
: % PROFLLFT_OL?A!NC:A CHEGKED ’4 e FOR: STATOR ASSY
[XF LINEAR ANGULAR wos/ooo |4 Y
b5 1S0-2788-m | 150-2768-m ﬁ '(J'jzc CASING, MOTOR OF: 12.7MM SRCG
L OFFICER/PRODN,
P2 A Pﬁgnm : SIZE CAGECOLE | DWGNO IREV
b e g OFFICER/QC 2 074257B-02 i
1%, [FrosEcT omrie | o i 2291A
2 | Approximate Weigm:] 0.5 ra| suRFACE TEXTURE N Micro Mater | CFFICER/DDO W é\tk | SCALE 11 | AUTOMATED DRAWING (SW) | SHEET 10F 1
8 7 6 5 4 4 | 3 I ¥ e 1




OFT ASSEMBLY PARTS LIST
Assembly Parts List For: 074257B-02 Rev:
Status: Released Descripticn: OTOR
CMD “PARTNUM . . | "ECO. |. . . .~ " DESCRIPTION = - MB | QTY | UM . REF. DES./REMARKS “MFG. PN/CUSTOMER | LA [ LI
1 YM 00118811N ALUMBAR SQ 2.75IN P 0500 |FT 15022-6061-T6511 SQ 2.75IN
2 HM 00023195N INSERT HCOIL CRES M4X1.5D NON P 6 Each 48058-MA3279-154
3 HM 40562003777 (99662225M) INSERT HCOIL CRES M 5X1D P 2 Each 53505-206M5C-0050
4 HM 99662220M INSERT HCOIL CRES M6X1.5D P 8 Each £0043-TNMBX 1C-9(SEE NOTES)
HM 99662213M P05421 INSERT HCOIL CRES M3X1.5D P 1 Each 60043-TNM3X0.5C-4 5(SEE NOTES)

USE OR DISCLOSURE OF DATA IS SUBJECT TO RESTRICTIONS ON THE TITLE PAGE

G3:12. 20920

‘.@W

SHEET 1 OF 1



